
 
 
 

2012 Encore P/E 
Replacement Parts and 

Pricing 
 

 
 

 

 

 
HIN Number:   
 

 
 
 



 

  Page 1

Drive Shaft, Aluminum Rod 

Assembly 
Part  

Includes Description qty  Retail  

DRS113   Encore Aluminum drive shaft 
Assembly 

    

 DRS262 6061 Aluminum Tube 1 1/8” OD x 
.058 

72” $          60.00 

  DRS315 Molded Propeller 15" 2 blade 1  $          65.00  

  DRS309 Union, Prop Shaft 1  $            2.50  

  FAS248 PHPB #14 x 1,0 SS 2  $            1.00  

  DRS321 Clamp 1 $             5.00 

  DRS322 Reverse thrust disc 1 $             6.00 

  FAS415 Pop Rivet, 3/16”-3/8” Aluminum 2 $             1.00 

 DRS333 Spacer Bushing, Prop-Enc 1 $             2.00 

 FAS170 OHPA 10 x 1” SS 4 $             0.50 

  DRS334 Bushing, Prop DS Aluminum 1  $            3.00  

  DRS268 Flat Washer, 1.807 x 1.43 x .062SS 1  $            2.00  

 

  



 

  Page 2

Drive Unit Assembly 

Assembly 
Part  

Includes Description Qty  Retail Each 

DRS102  Encore Drive Unit Assembly   $         500.00  

 DRS201 Molded drive unit housing 1  $         200.00  

 DRS211OLM  Kevlar reinforced drive belt 1  $         125.00  

 DRS256 Bottom Bracket shell 1  $            5.00  

 DRS260 Bottom Bracket OR8 68x110 square 1  $           50.00  

 DRS306 Large Sprocket 2  $           20.00  

 DRS259 Pedal set - Pyramid 1  $           12.00  

 DRS261  Crank arm set CPI-CFM 1  $           50.00  

 DRS253 Crank arm bolt set 1  $            5.00  

 DRS312 Spacer, spider sprocket, .250 thick 5  $            0.25  

 FAS382 BHCS 3/8-16 x 1: SS 5  $            2.00  

 DRS901 1" Fiberglass Threaded Rod 2  $           35.00  

 DRS925 Small Sprocket Assembly 2  $           50.00  

 DRS267 Retaining Ring 1  

 DRS316 Belt Sprocket 1  

 DRS317 Outer bearing race, small 3 tab 1  

 PLN048 Roller-5/16" x 3/4" 16  

 PLN028 Bearing Retainer-small 1  

 PLN034 Inner Bearing Race- small 1  

 FAN381 FPMS 10-1.5 x 25mm Nylon 1  

 DRS247 Spring 15/16" x 2 1  $            5.00  

 FAN951 Nut, 1" -8 2  $            4.00  

 FAN386 Knurled Set Screw 3/8-16 x .5 Nylon  1  $            1.00  

 DRS319 Belt retainer 1  $            2.00  

 DRS326 Belt retainer roller 2  $            0.25  

 PLN041 Teflon sheet strip 1  $            3.00  

 PLN042 Outer Bushing Large 1  $            3.00  

 PLN043 Inner Bushing Large 1  $            3.00  

 DRS264 Retaining Ring Large Idler Sprocket 1  $            1.00  

 FAN372 Nylon screw, FPMS 10-1.5 x 20mm  8  $            1.00  

 FAN514 Nylon Bolt, 3" 4  $            2.00  

 DRS501 Spoke Knob 1/2" bolt head 4  $            2.50  

 DRS502 Spoke Washer   $            2.50 

 DRS503 Washer, Drive unit adjustment   $            2.50 



 

  Page 3

 
 

 

 

DRS201 

DRS256 

DRS260 

PLN043 
FAN372 
DRS312 
(behind 

PLN043) 

DRS925 

DRS901 & 

PLN027 

FAN951 & 

FAN386 

DRS211 

DRS306 

DRS253 

DRS261 

FAS382 

DRS319 

& 

DRS326 

 

Clockwise: 

DRS501 & FAN514 

DRS256 & 

DRS260 

PLN043 

PLN042 

DRS247 

DRS264 

PLN041 

FAN372 

 

 

 

DRS503 

DRS502 

DRS312 

 

PLN041(not 
pictured) 
PLN042 
DRS264 



 

  Page 4

Small Sprocket Assembly  

Assembly 
Part  

Includes Description qty  Retail each  

DRS925  Small Sprocket Assembly   $          50.00  

  Small Sprocket Housing   

 DRS267 Retaining Ring 1  $            4.00  

 DRS316 Belt Sprocket 1  $          20.00 

 DRS317 Outer bearing race, small 3 
tab 

1  $          15.00 

 PLN048 Roller-5/16" x 3/4" 16  $            0.25  

 PLN028 Bearing Retainer-small 1  $            3.00  

 PLN034 Inner Bearing Race- small 1  $            7.00  

 FAN381 FPMS 10-1.5 x 25mm Nylon 1  $            2.00  

 

 
 

 

 

 

 
 
 
 
 

Small Sprocket 

Housing 

DRS267 

DRS316 

DRS317 

PLN048 

PLN034 

PLN028 
FAN381 



 

  Page 5

Seat and Covers 

Assembly 
Part  Includes Description Qty  Retail Each 

Retail Total 

SEA101GEN  
Operators Seat Assembly,  
Available in Red or Turquoise  $  375.00 

 
 $  375.00 

 
SEA510GEN COVER, Operator's Seat Cushion, 

(Zander Cherry (red) or Turquoise) 
1  $  150.00    $  150.00 

 SEA512 FOAM, Operator's Seat Cushion 1  $    75.00  $    75.00 

 SEA501 Molded Seat only 1  $  125.00  $  125.00 

 FAS171 Screws for cover OHPA 10x 3/4" SS 14  $      0.25  $     3.50 

 SEA521ASY Seat adjustment Assembly 1  $    35.00  $   35.00 

 SEA521 Seat Adjustment lever 1   

 SEA522 Seat adjustment knob 1   

 FAS237 FPMS 1/4-20x1.50 SS 1   

 FAN523 SHCS 1/2- 13 x 1" Nylon 2   

 
FAN525 Socket head cap screw 1/2" x 1.5" 

nylon 
4 

 $   1.25  $   5.00 

 PLN049 Spacer, Seat retainer- 5/8" 4  $   1.00  $   4.00 

 DRS503 Washer 4  $   0.50    $  2.00 

  Stern/Bow Cushions, Red or Turq    

SEA604  FOAM, Encore Bow Cushion 1 $ 60.00 $ 60.00 

SEA602  FOAM Encore Stern Cushion 1 $ 55.00 $  55.00 

SEA605GEN 
 

COVER, Encore Bow Cushion, 
(Zander Cherry (red) or Turquoise) 

1 $ 120.00 $ 120.00 

SEA603GEN 
 

COVER, Encore Stern Cushion, 
(Zander Cherry (red) or Turquoise) 

1  $ 90.00 $ 90.00 

SEA601 
 

Storage Compartment Cover, Stern 
or Bow - Encore 

1 
$ 35.00 $ 35.00 

 
 

 

 

FAS171 

SEA510GEN 

SEA512 (not 

shown) 

SEA522 

FAS237 

SEA501 

DRS503 

SEA521 

PLN049 

FAN525 

FAN523 



 

  Page 6

Steering Parts  

Assembly 
Part  

Includes Description qty  Retail Each 
  

  STEERING PARTS   

 STE101 Steering handle assembly 1  $          50.00  

 STE602 Molded Handle 1  

 STE616 Adjuster-Steering Handle 2  

 FAS383 BHCS 3/8-16 x 1 1/4" SS 2  

 FAN359 SHCS 3/8-16 x 3/4" nylon  1  

 FAS385 BHCS 3/8-16 x 1 ½” SS 1  

 FAS808 Washer 3/8 x .875 SS 1  

 PLN052 Retainer: steering handle 1  

 STE604 Rudder 2  $          60.00  

 STE612 Tube, steering rod 1  $          40.00  

 PLN012 Steering Delta 1  $            3.00 

 STE622 Steering tube clamp, bottom 2  $            2.00  

 PLN019 Steering tube clamp, top 2  $            2.00  

 STE619 Steering rod 1/2 x 78" black acetal  1  $          50.00  

 FAS381 Screw 3/8-16 x ¾ SS 2  $            2.00  

 FAS248 Screw #14 x 1 SS 4  $            1.00  

 STE623 Spacer, steering rod 1  $            1.00  

 DRS501 Spoke Know ½” bolt head 1  $            2.50 

 FAN508 HHCS ½-13 X 1.5” 1  $            1.50 

     

NOT 
PICTURED 

PLN022 Rudder Bushing, Upper 1 $   5.00 

 PLN023 Rudder Bushing, Lower  $   5.00 

     

 

 



 

  Page 7

Steering Handle Assembly 

Assem
bly Part  

Includes Description qty  Retail Each  Retail Total 

STE101  Steering Handle Assembly   $          50.00  $          50.00 

 STE602 Molded Handle 1  $          30.00  $          30.00 

 STE616 Adjuster-Steering Handle 2  $            3.00  $           6.00 

 FAS383 BHCS 3/8-16 x 1 1/4" SS 2  $            2.00  $           4.00 

 PLN052 Retainer: steering handle 1  $            5.00  $           5.00 

 FAN359 SHCS 3/8-16 x 3/4" nylon  1  $            2.00  $           2.00 

 FAS385 BHCS 3/8-16 x 1 1/2" SS 1  $            2.00  $           2.00 

 FAS808 Washer 3/8 x .875 SS 1  $            1.00  $           1.00 

 

 
 

 

Miscellaneous Parts 

Part   Description qty  Retail each 

HUL421  4” Inspection port cover  $   10.00 

HUL419  5” Inspection Port cover  $   10.00 

HUL420  6” Inspection Port Cover  $   10.00 

HUL503  Windshield  $ 150.00 

HUL430 $2.00 per 
foot 

Windshield Trim  5 $   10.00 

FAS175  Windshield Screws 18 $       .25 

HUL509  Floorboard, Left or Right  $ 100.00 

FAS381 
w/HUL457 

 Drain Plug with O-ring  $     2.00 

 

 

 

PLN052 

FAS385 

FAN359 

 
STE616 
FAS383 

 

Back side of steering handle 

STE602 



 

  Page 8

Electric Option  

Assembly 
Part  Includes 

Description qty  Retail each 

ELE900  Motor Assembly  $ 750.00 

 ELE101BLK Motor mount-top 1 $   20.00 

 ELE102BLK Motor Mount- bottom 1 $   20.00 

 FAS385 3/8-16 X 1 ½” bhcs 8 $     1.00 

 ELE103 Motor mount spacer 4 $     2.00 

 FAS252 #14 x 1” SS thpa 6 $     0.50 

 ELE223 Minn Kota RT55/EM 55# thrust electric 
motor 

 $ 650.00 

 ELE230 Weedless wedge propeller  $   29.00 

 ELE235 Motor control box  $ 265.00 

 ELE236 Motor remote dial-F/R dial  $   85.00 

     

 
 

 
Assembly 
Part  Includes 

Description qty  Retail each 

ELE902  ELECTRIC ASSEMBLY COMPLETE  $ 1500.00 

 ELE900 Motor assembly  $ 750.00 

 ELE901 Wiring Assembly*  $ 450.00 

 ELE138 Pro Sport 6- 3 stage waterproof marine 
charger 

1 $   90.00 

 ELE134 LED Battery Meter  $   30.00 

 ELE136 Master Battery Switch-keyed  $   45.00 

 ELE172 60 amp Manual reset circuit breaker  $   65.00 

  *contact Nauticraft for specific items needed   

     

 


